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Re-Imagination of learning

Read each question, and tick mark the correct option.

1. What does CM denote?

a. 1200
b. 90

c. 900

2. The four numbers XL, LX, CV and CC in ascending order would be -
a. XL, LX, CC, CV
b. LX, XL, CC, CV
c. XL, LX, CV, CC

3. If | add the two numbers 505 + 495, which Roman Numeral represents the answer?

a. M
b. X

c. None of the above.

4. Which number is incorrectly written in Roman numerals?

a. LL
b. VIl and XII

c. None of the above

5. On an old building the year of construction was marked as MDCCCX. Which year
was the building constructed?

a. 1910
b. 1810

c. 1510
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